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$42,000

$66,000

$82,000

$111,000

Bastille Day

Easter

Labor Day

Yom Kippur

kiwis

lemons

oranges

watermelons

Salaries First Names Fruits Holidays

$42,000

$66,000

$82,000

$111,000

1. Emmanuel earns less than the person who's making plans for Easter.

2. The employee with the $42,000 salary is making plans for Yom Kippur.

3. The person who grows kiwis is Katelyn.

4. Either the employee with the $66,000 salary or the employee with the $82,000 salary grows oranges.

5. The employee with the $82,000 salary doesn't grow oranges.

6. The person who grows lemons isn't planning ahead for Labor Day or Bastille Day.

7. Of Emmanuel and the person who grows kiwis, one is making plans for Bastille Day and the other is making plans for
Easter.

8. The person who's making plans for Easter earns more than the person who grows watermelons.

9. The 4 people were  the person who's making plans for Yom Kippur, the employee with the $82,000 salary, the person
who grows kiwis,  and Jaelyn.
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